Q@I1d
Aol

ETKA

16.04.2005

9:25

Update

615

Restrictions

>> 9M-5-149 9

Illustration

103-17

SG:
03

MG:

Year

05

Model

JEM

EPIS 270

frm

et_bild



ETKA QD

Auoi

Model Year MG: SG: lllustration Restrictions Update
9:25 16.04.2005
JEM 05 1 03 103-17 >>9M-5-1499| 615
Pos Part Number Name Remarks Qty Model
cylinder block with pistons 1.91tr. diesel eng.:
0il sump BEW
1 038 103 101 aM cylinder block with pistons
M >> BEW 028 769 1
(1) 038 103 101 AP cylinder block with pistons
M BEW 028 770>> 1
2 N 901 300 01 screw, hex. hd. AM10X80 10
(2) N 908 897 01 screw, hex. hd. AM10X80 10
3 N 011 907 7 sealing cap Al4 3
4 028 103 039 A sleeve 2
5 impulse sender
see illustration: 906-00
(7) 038 103 157 B 0il spray jet 4
(8) screw, cheese hd. 4
discontinued / replacement: 038 103 157 B
9 038 103 085 E seal 35X48X10 1
10A 038 103 153 D sealing flange front 1
12 + N 909 450 01 bolt, hex. hd. with socket M7X21,5-SP 6
head
13 b D 176 404 A2 silicone sealant 936G X
sealing flange front
14 radial shaft seal
not a spare part
15 06A 103 171 A sealing flange rear 1
17 + N 909 450 01 bolt, hex. hd. with socket M7X21,5-SP 6
head
18 N 043 207 2 dowel pin 8H8X14 4
(19) 012 301 153 B sleeve 16X13,5
F >> 1J-3-225 000* 2
19 022 103 139 sleeve 16X13,5
F 1J3-3-225 001>>* 2
page: 001 EPIS 270

et _text.frm



ETKA QD

Auoi

Model Year MG: SG: lllustration Restrictions Update
9:25 16.04.2005
JEM 05 1 03 103-17 >>9M-5-1499| 615
Pos Part Number Name Remarks Qty Model
20 038 103 601 NA oil sump 1
21 N 908 132 01 oil drain plug M14X1,5X22-TC- 1
S20
22 discontinued / replacement: N 908 132 01
23 06B 103 623 C restrictor 1
24 + N 907 356 03 bolt, hex. hd. with socket M7X28-PC 20
head
25 b D 176 404 A2 silicone sealant 93G X
0il sump
26 038 103 647 H intermediate plate 1 |automatic
29 N 012 226 5 spring washer B6X12X0,5 1 |manual
transmission
30 N 010 208 5 screw, hex. hd. M6X8 1 |manual
transmission
31 06D 103 634 tube for oil dipstick 1
32 038 103 663 funnel 1
32 038 103 663 B funnel 1
33 transmission securing parts
see illustration: 300-72/80
--- END -- -
page: 002 EPIS 270

et _text.frm



